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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any five questions: 2x5=10

@I 2156 aris Ted 1l ¢

a)

b)

d)

Distinguish between categorical and conditional
proposition.
TR0 '@ I 0 ) AL |

What is the main difference between deductive

and inductive argument?

SR € AR IFE 6 Ay 52

Why does a negative proposition distribute its

predicate term?
b T[T 6 KR 217 YVl 27 (e 2

Reduce the following sentences to their logical
forms and show which terms are distributed and

which are undistributed:
[Turn Over]

g)

h)
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1)  Nothing is both white and black.
I TGl Fatoie w8 Sl 3 |

11)  Virtuous are seldom unhappy.
Hifsi e b =Pl 23 |

What is truth functional statement?

TSI ool TECS 6 (I 2

If "All socialists are pacifists" is false, what may
be inferred about the truth or falsehood of the

proposition?
"Some non-pacifists are socialists."

- # [T GFI = AR I509 77! A UG THCH
5 S 1 A2

If 'p > q' is false, what is the truth value of
(pva).~(pv~q)?

W poq el = SR (pva).~(pv~q) S
Forely [ 2Ca?

What is meant by 'Figure' and 'mood' of a
Categorical Syllogism?

G0 TR IR HEI € 6 T@ICe & (@[l 2
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2. Answer any two questions : 5x2=10
@I 7B &0sd e e ¢

a)

b)

d)
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Explain different rules of conversion. Is simple
conversion of A proposition possible?

4+1=5
SRS R I T | A IO A SO
LSRR

What is opposition of propositions? Explain and
illustrate different kinds of opposition of

propositions. 2+3=5

W Rifel T e [ien 177 B
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Use the method of Venn-Diagram to test the
validity of the following: 21+24=5

(o=TbGae HRIE (4ol Kol 94 ¢

1) EAE-2

ii) OAO-3

Use truth table to test the validity of the
22+25=5

TePRaR AR fEfiie e el vk 34
i) (EvF)>(EF)

following arguments:

EvF/- EF
i) PS(QVR)
Po>~Q/..PVR
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3.  Answer any one question :

Use truth table method to determine whether
the following statements are tautology, self-

contradictory or contingent: 22+25=5

FOPEA *fafod AR FEfhike aRgef T,
Fosfer 7 wefes ©f Fae 54 ¢

i) [p:(q:r)]:[(p:q):(p:r)]

i) p=[p(a>p)]

10x1=10

-G QT AT Ted wie ¢

a)

b)
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Critically discuss Mill's method of Agreement.
10

ieeTa g3 oiafs ARG SEsa 54 |

Translate the following arguments into standard

form syllogism and test the validity of them.

25+25+234+25=10

fFfaie Ifeafcrns shfmprre s Afare
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1)  The communists can never be happy, for
they are not religious and only the

religious are happy.

AT FACTR FA 208 AN I, (ol Sfl
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iii)

Truthful alone are honest and truthful alone
are worthy of respect; so all men worthy

of respect are honest.

(FIANG ACTIAAZ AL G2 (FIANY
TR 2&IF @9, oK &wF @i
Jfeais A |

Some politicians are teacher; because

Radhakrishnan is a teacher.

@I (@ G R, @l AFRe
A GG R |

This man is old, since he is as weak as an

old man.

@0 I3, @ (1 JaWE o2 7341 |

What is meant by the existential import

of propositions?

T SEGLTF Sl Telre & @R 2

Why according to modern interpretation

of proposition DARAPTI and

BRAMANTIP are not valid modes?
4+34+3=10

BT eI HAE DARAPTI @3]
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